BRI SRS OOBREE S TR 55 6 3 BB P B BRI R AB3031 130 ARG - BT HARE 2P

ﬁ 3H9H S 3H30H S 3H31H = 4A1H R 4F2H A
YT | B TR = %ﬁW@M%ﬁ = | B AT = i | B TR = s | B TS =
F&| TR FORRL(CAS)(IK) SELRERER FEoRER R A 2KG
EHR T (CAS)-< 12> 3KG R A<BE> 15.5KG [l 0.6KG FeAFNE </ INEE>( 11
= 0.1KG & _EA<bRE> 9KG SN 0.6KG Z T (CAS)-< 18> 23KG
1 [FEESEQRC) +<IFHS> 10KG| 45 |&oirsH 0.2KG| Bt |%eik Ai<hbiE> 8KG| # [FHEFCAS)IK)<FAF 76
E | A |[EET(CAS)-< FfE> BKG| F [WTHE<EEE>GK) 4| | 0.3KG fg BHE T (N)(CAS)-< Ff 3KG
| BBk RR<ERE>(500ml) | B % EREYE(QRC) +<IFH> ISKG| oy |4 HHQROIER> 3KG
I 2 3 [ 02KG| 7
KLEEE/INT 3KG
= 1KG 4] SR B sR<EE PHIE > 3KG| s [HIREHE(CAS) <AL 8.3(1 LLEEE R <EHIERE> 3KG
AR < bl B> 38 TE1E4EQRO) 3KG| & (& 0.2KG TRAEE<BRE> 3KG
L |[EEESE BKG| 5 [AHAQRO) KG| B BT <ihiEE> 1061 g5 |HEBQRO+ 5KG
#| | HLHQRO<IEE wkG| T (2RO OH)< TH
| g B | $8HEQRO) 3KG| BT 40057| |74 0.6KG
i = 0.6kG| &
A T, 06KG
P 0.4KG
| |E% 02KG| A |%sE 0.2KG D) st A |gsE 0.2KG
¥ | 7 e S e BRG]  [EGnoki) ¥ lmamedEn 33KG
%5 - 5KG S L5 £(300g) 16 - 0.6KG
L | 7 | E<EE> 3KG| # [WEBETIREZD<R! 3KG| e |BEAE<ETFE>(652) 407MB| z |REEERT> 8KG
gf; Q |4w 8KG| ZE [mkmi<t4>(K) 15| E %3000 16
Q R 12kG| & 1t
7 z 7
K| & |EERAL<ESES>(125m] 40631 396 M| 7K [KE A04+115 393 A 393 A
R | W |sm<ise%>(125m) i} ®
ozhall] e gzl e Bhl g syl g R &
¥ ERRE 5.6 PRARES 4.5 ERHRE 5 SRR E 4.5 ERREE
& HHEENHE 2 HHEERH 2 HEERM 2.3 HHEERS 2.8 HREENE
ég SHRESE 2.5 SHHESE 3.1 SHIHESH 2.7 HFEE 2.9 SHIHESH
2 B 1.3 B 2.1 fiEmie 0.9 | 1.2 B
r AmdH 1 TK S TR 1 KRB KA
EE(CKT) 768 BuE(KF) 657 EECKT) 7217 EECKT) 686 EECKT) 0

b
ik

wL aWEALER HifeE T




